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3)
SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
e e g femmeme

There are 30 questions in all in this section.
All questions are compulsory.

HEEH FA30THE |
Tl 9 e £ |

Which among the following is involved in learning process ?
(A) Physiological (B) Psychological
(C) Environmental (D) All of the above
frafefa o 3 e i wiwn § mie 2 -
(A) Wil (B) THIOTIHS
(C) vateReft (D) IHIiF woft
The i1s the immediate environment in which the individual lives.
(A) Microsystem (B) Mesosystem
(C) Exosystem (D) Chronosystem E3m
a1 fareem ararn % fe safd war g | B
(A) G&H ST (B) werfiren
(C) el foem (D) HIeTHT

proposed the theory of multiple intelligence.
(A) Howard Gardner (B) Freud
(C) Binet . (D) Thurstone
_ Aug-gfg = g weafad TR 2 |
(A) EMGEMER (B) WAE
(C) fad (D) oA

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition

(C) Terms and Condition (D) Authorization

RTE sFfafm, 2009 % sqew, frafefaa fea yamr-m & fam #5% foaem wnfa 7@
fopan s 7

(A) g9 (B) Hi=an

(C) frm @ vd (D) WIfteR

Any relatively permanent change in behaviour or behavioural potential produced by
experience 1s called :

(A) Learning (B) Thinking

(C) Cognition (D) Motivation

FHA GRI 0~ SHaE A1 Hagn el d foreft ot smderpa wrft df@da st a1 S
2|

(A) e (B) fomm

(C) (D) S
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@

As per Right to Education Act, 2009, Elementary Education means :

(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12thclass (D) Education in middle school
RTE arfrfvam, 2000 % 3rem srftes fren w59 2

(A) Eel! e § ISl e A% 6 e

(B) v it & vt i forem

(C) el & aTgel e aa i e

(D) wrafies e

PL-2

In the field of mechanism of heredity, modem studies have been done principally in which

direction ?
(A) Cytology (B) Biometry
(C) Expenimental breeding of animal (D) All of the above

AT 751 % ST o & B, Tl it fep femm oY ofv sme & 7

(A) eIt (B) iafufy

(C) a1 T Toe (D) S Tt v
B

RTE Act, 2009 directs working hours per weck for teachers.

(A) 40 hrs. (B) 45 hrs.

(C) 42 hrs. (D) 48 hrs.

RTE sifufyam, 2000 Tt  fordt wfa weare forew ¢ w1 et o1 fadw2an 2 7

(A) 409w (B) 459w

(C) 42w (D) 48 °W

Which out of the following 1s not a biological determinant of personality ?

(A) Nervous system (B) Ductless glands

(C) Somatic structure (D) Situational structure

frefeafiga o @ B9 safFae =1 e fus & 2 7

(A) AR T (B) afedtei dferat

(C) &fes g (D) TRufest= g

Which of the following is not a general law of heredity ?

(A) Progression (B) Vanation

(C) Regression (D) like begets like

fraferfiaa § @ 17 Irafyesar 1w frem T8 2 2

(A) wIfd (B) FUH

(C) et (D) St TeT g
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11.

12.

13.

14.

(3

Which of the following is not a step in conducting scientific research ?

(A) Conceptualizing a problem (B) Revising research conclusion
(C) Collecting data (D) Dynamic approach

STfR ST w0 A R i frefrfen § A N W T e A 2 7

(A) T GO 6! SFEHM (B) @Sty oMy fsey

(C) MU ot e T (D) et g

of the test refers to the consistency of scores obtained by an individual on the
same test on different occasion.
(A) Reliability (B) Validity
(C) Objectivity (D) None of these
iteor Ht 1 ged < i s/ae = s & ghem w e sfe g wa s i
A ag |
(A) Tovaa-a (B) Ay
(C) aEgfEal (D) T3 FE T

Right to Children for free and Compulsory Education falls under Act mm
(A) 2009 (B) 2012 B
(C)y 2005 (D) 2010

ol o1 R 37 st firer o siftrer b srfirform % srefa a2 7

(A) 2009 (B) 2012

() 2005 (D) 2010

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children

(D) spend time in competitive games continuously

et =1 wafvs w0 8 ol dm w1 g W e R em Em iR fF e

(A) e ol A WA E |

(B) sifire sarawfas Hivet i |

(C) g w1 & 1y yieorf & & forl e wfem = |

(D) AR sfaerdt @ert 7 gue foqrd |

Learning through Reward and Punishment is :

(A) Observational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning
TR 91 eve % wiery @ e 2

(A) T&OTEHE T (B) @mmiss e

(C) foramsmgg sEem (D) AT ST
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17.

18.

19.

(6) PL-2

According to Freud, the primary structural clements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) 1d. Ego, Super-cgo

(C) Pleasure principles

(D) Defence mechanism

SIS % AR, SAfadcd & Tafie: GraTeds awd 8 ;

(A) Tdd, Ad=dd, A (B) $<H, 3EH, WY

(C) 31 & fagra (D) wrens sfafsman

Tendency of body to maintain a steady state 1s :

(A) Homeostatic (B) Balance

(C) Fostering (D) Drive

feR arereer oRl W & fordt o 1 wgfa 6t e e 2

(A) wnfedfy (B) dqeH -
(C) wg@re (D) oM B

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears
tobe:

(A) Intrinsic (B) Exfrinsic

(C) Selfish (D) External

HiAT U ¢ I YT H HTH FT 2 | I FH 2 3N FHE F 52 T« 8, AfRA 98 =1 & HEIE
&1 THE HAT & AR I Ao aretl A o e B I o Ae e ¢ | Hien
ST fehd e Y TRt B 7

(A) TR (B) e

(C) w@efi (D) =l

In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test
(C) teachers’ opinion (D) the community viewpoint
yfasmareft &t vg=m 5 g4 srufisrar o =ifed

(A) r-Tuar 1 (B) s e =1 aftomy

(©) T i 1 (D) |y g
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20.

21.

22.

23.

M

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading

frefafas 3 9 &1 @ aamTes 1 03l % R W R T W § 66 w0 % ol
IF AR 8 7

(A) FhIgT H | &= (B) #hiE-T% T&ell T HW BT

(C) AT e Treft (D) Ta &

“Life presents a continuous chain of struggle for existence and survivals.” is said by

(A) Darwin (B) Shaffer
(C) Jerslid (D) Spencer
‘e, tfectea % wend 3R Iaweffaar 1 v waq *fEen Sd F 2 | 3 fraeh grn g mn
27
(A) @i (B) I o)
B
(C) SHs (D) B

Which among the following is not a major period of cognitive development given by
Piaget ?

(A) Sensorymotor stage (B) The pre-operational stage

(C) Cyclic stage (D) Formal operations

fiemat grr feu o waTenes T < firgra o frmfafiaa 4 @ w5 @ fawm &1 5@ F e’
T 7

(A) wadroe feufy (B) qd-afsmaens feufa

(C) Fshr =T (D) 3= =

Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery

(C) Thinking (D) Concept

S I3 Sl FEAIAT HI WA L @ BT @ Al AT H For dTelt HHres ity
FETd 2

(A) FAferm (B) THI&e Hedml

(C) fammm (D) HehewHl
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26.

27.

(8) PL-2

Formula of 1Q is :

MA CA

(A) Ga x 100 (B) px % 100
CA x 100 MA

© —va (D) JA x 100

g afy frem Frgm 2

(A) %xmo (B) %XIOO
CA x 100 MA

© v (D) Ja x 100

Assimilation is :

(A) Current schema to interpret the external world
(B) Process of changing to better

(C) Adapting to iternal world

(D) None of these

HTCHHTH B B
(A) TGHH EHMWT T A TE F o favers & for

(B) W& U Feo i Uishal

(C) il g < et 2T

(D) 37 & g oft 7
The three pillars of education are , and
(A) Teacher, Student, Curriculum (B) Principle, Teaching, Aim

(C) Education, Methodology, Teacher (D) Importance, Teacher, Objectivity

fven < 3 yg@ amaw @ , w |

(A) e, wm, g (B) frgm, femor, seva
(C) e, Tomanfarfer, freren (D) W&, e, aegfma

Dyslexia is :

(A) Difficulty in reading skills (B) Difficulty in understanding maths
(C) Difficulty in writing spellings (D) Difticulty in competing
feifram #ad 2 .

(A) e B (B) Tifora Twe # i

(C) aet ferad o whigar (D) wfereas o g
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28.

29.

30.

9

A scries of pictures is shown to the subject and he is asked to make a story, is used in

projective technique.
(A) TAT (B) Role Play

(C) Rorschach (D) Dramatic Production

e &1 foal 6w en fomrd areht 3 3t 38 v FweH F9 F ford w1 wma B, W
et Febefteh T g foherm ST B |

(A) UM GYca0 ThEy (B) it Fatg
(C) T (D) e wegfd

Which among the following is not a subjective method to assess personality ?

(A) Individual history (B) Interview technique Eem
(C) Inventory technique (D) Rating Scale :
freferfiaa o @ o ot safaded 1 3shel o & foldl T wfeaa fafy 761 2 7

(A) faaTd giaer (B) TETEHR a1

(C) ! Tl (D) Ferfor amreh

Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

(C) Severe retardation (D) Acute retardation

freaferiga o @ 17 °r gl weqr % arifa & st = g
(A) Goohl Hgal (B) WEIH el

(C) R e (D) e Hea
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32.

33.

34.

35.

(10) PL-2
©ug -1l
T - |

&=

FEEYHA0THE |
vt v srfEr € |

frferfiaa e i v 18 T I F I fafaw : (3w TEn 31-36 7)

arl 3 ;e ot wd fourar gos 2qn o srferra 3R Jrgya snenfares wal $1 gy
F 2 | FTe IS 30 T A A R 1 98 IFh1 g A, M 9ot 3R 1= & G Bl 2 |
ot g ot 1 7€t 2o | afe gwent 1S e 2 ot 2 9 gee 38 T TE Era i e
et F-wll B, T gE) gy It 2, ©t soehl STEeRfel 8, 5o gHe [ 3R STHE &
WIH 2 | T ) =T, A5, Raern- e, 3ok a= 6 9H s i aig a1 S
ol AN F A IR AY A AR A A WA @ FH 2 7 e, <A o 9 S
feparmt o < e 2, 31=r e &1 72t | T T 3 3 e 2 — ot e firet T Wi
AT oRETHT 1 YR 370 et d1ER 1 39 31 2 | 391 BF Al Bl 4 A g TR T A
TR I (ol T ULl 8 | 3 I & FTaH A 2 |

farerren goh gea § srfurta 3R s1gya smenfares wat it gfy w2 1 frfafea w8
TEiferd e A fir= arel wEa aren o 2 -

(A) TTHTCHT ¥ &S TG aTel | (B) AT wraeedt 9 |
(C) STTCHT-TRHTCHT & H-Y TG a1t | (D) @ FereaT |
frerferfiaa wregi # sga T2 2 -

(A) I (B) o

(C) Td (D) T

‘grg 9z freft R T A 8 1 TR fha T +1 2 7

(&) gt (B) w2 fered et 2
(C) TR T (D) FaTH FeA
frafeafas wssi 1 fivm forg &1 3grn 2

(A) @1y (B) wHf

(C) ==m (D) <EH

| 3R e fe7 ol aa faemar s gea § sty SR g senfores wial #1 gy
HT 2 | a1 & Y@ wreg 1 favia forg 2

(A) fasmh (B) fasm

(C) faur (D) faum
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36.

37.

38.

39.

40.

41.

42.

43,

44,

45,

(11)
A (A ok T WY & | TR I I AR § gae W Zm

(A) 3l < S ATy B | (B) 3 W % e WY 51 |
(C) 3 siefd o S |1y BT | (D) ¥ T S(d o SIEH A1Y @ 7 |
frfafiga st @ fourams s 2 -

(A) W A weedt 2 | (B) AR E |

(C) JTShT IITA1 HHY AT ] | (D) 3T ! I AT E T
AT o YRR TR 3 8 Y= a2 -

(A) S (B) oz g

(C) friwmers s (D) ©IF I

eIl G-, 14 T Y ] Yohe T Tl Heall 8 -

(A) °FEM (B) =i gt e

(C) ¥R ket SHT GEHT (D) = AT

"3t o1 34T, i3 T W Arehifea b1 37 2 -
(A) S -sgreRt foufe ae o | (B) quid: S=e T |

(C) % 3R FTH HLEM | (D) g forg Tor= |

TR T3] o e <6 s faftrn o @ fim faftr g -

(A) a7 T farfer (B) Jrycay fafy Em
(€) wafafy (D) TE-TEH IR o
forgqn 3T # A UG WHER Te 1 HEETl A0TEE 8 -

(A) Heu forem (B) =@M faegm

(C) T3 FT (D) sifdres fram

39 F A ARG ferh ot e @ g 8, Foon, fawa, 9o wfeaat sgdt € 3 sngd fawd
FH G 2 | 919 T b8 et & feu g1 2 7

(A) TIEh B & forg (B) e &Il % feru

(C) fram e fou (D) ¥19/d %1l & feIu

arest ueA, fava gt woww g, fafay fenfiasi 1 smeem, s, A, T
FIAHH YA, T o A 1 AT i F geanfs miafafirat s whoe faewm § fra =
& WTcTehi o [0 8 7

(A) FvE &/ (B) 3= Ui &R
(C) e frem &R (D) wefeer firem
sl o fofu s i o Heten ov g 2 -

(A) 68 9ad 3wy (B) 128 15 9% 3y o
(€) 18%21 o g (D) 218247 a1y i
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46. =<t T o qo et A wEm s BT sER # fRE T S v % o a9 wd
TR 7

(A) fFRtEm ™ (B) I EHH

(C) T wR® (D) Hig & W
47. TIEA-Tedb % AT dal # ¥ = 7 8 —

(A) T (B) deft

(C) fermar gremht (D) F=am feft
48, gort Fa Tt % T ferfian | v v R -

(A) wEfomed T (B) T I

(C) Fraymess yw (D) =fispd T
49, Frerferfign el o wed o= oY sreia fasia A qu R -

(A) favaeiaa (B) &

(C) Afereamyaman (D) SR

50. HAq U9 SFTY GoATeh STt ST & W T8 A vt & wehell & 5
(A) e TEIT e 81, STT YA o aTfieh TieT & i STenT-37e g |
(B) foersi, o va sifirvresi 1 aug-wwy WE=Ed A E |
(C) Bt R gt wtar & e s F9ed 1gd & | E
(D) e 3 o7 2 s i o Pl S sm A E | B

freferfiad e 1 vgeR 48 1o et % SR faflEe : (A 9. 519 60)

W0 G T 31 Tgd H1el W NI TEA1d el 37 B¢ fhH A =l 1 941 @ A A 6
g 1 & 2 | 5 3 e A fewrd <, Fowa, s o ffierr o e e | i md
IETEt <l BT % &= A9, IR AR Ferar i 51 {8 wiarfe % @y gedt foer v, s
dieed 1 NS FI w1 HUT | TH 1 HITIH GG b1 VHT 8 2 | o wifesrss ot & ; e am 4 |

T0E H1T 1 &l U f9uH 2 | U9eve T 2 3R Siehahiy eehin 2 | el Tofehiy g §
wheH fu1 fomrd ug, aal 38 US4 guee @ faRw T @ i wage AR | ten S
USTT o Hewd HIT el 1 SRl 781 21 Gl | IHeh! GHH I9d1 F9 folg 3rravas T2 g
gohdl |

51, ‘O Y& H EHEE -
(A) HfaT (B) Fifvaa
(C) ®&e (D) gl
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S2.

53.

5,

S5,

6.

57.

38.

59.

60.

(13)

‘AR 1&g § "R 1 YER § -

(A) T ERY (B) g€

(C) amaf (D) < afy

TR & § TUTE 2 -

(A) Terawme (B) = uuy

(C) ogey JoTd (D) FHYTE gHE
frfafiaa sreg! # wieaTES e U 2 —

(A) 39 (B) o g%;lf
(C) femaT (D) o =
faffaa vl d sreg = 2 -

(A) 39 (B) HI&

(C) @ifeash (D) B

WA g T I Tgd Hiet  T81 TEHId el Jd B fondlt T el 7 sH1 Tefl & A1 b
& ¥ 2 | e W TEifehd 9reg 1 feor &1 YRR 2 -

(A) e fergror (B) Ffvaa gicarorarass famm
(C) fafyem wfmmomEras: fasmom (D) Tehadrs famem
“Srfererar wee @ YeE FTIF R -

(A) FHaTEH F T (B) FTETE Fd T
(C) rgaTas afga g (D) foramaras a yem
g TG (T8 Hea ol Y al || — dre % iy, Toh Mg 3

(A) @fceah (B) ®@feeshl

(C) HTefh (D) Hread

FIT 9762 T el g ¢ -

(A) 9 (B) it

(C) +H (D) I

3 IUE 9T Vg 3

(A) 3R (B) 3TER

(C) 3w (D) g

https.//www.pygonline.com


https://www.pyqonline.com/

31.

33.

36.

37.

38.

39.

40.

(14) PL-2

SECTION -1
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct interrogative sentence :
(A) Had been it raining for long ? (B) What been it had raining for long ?
(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

Admittance to him by the guard.
(A) were refused (B) was refused
(C) are refused (D) will be refuse

) . . - EE
‘So help me, Heaven ! he cried, ‘I will never steal again.’ i

Choose the correct indirect speech of the above sentence : =
(A) He called upon Heaven that [ would never steal again.

(B) He called upon Heaven to witness his resolve never to steal again.

(C) He called upon Heaven to never steal again.

(D) He called upon Heaven to witness his resolve not to never steal again.

=

Choose the “Affricate’ sounds :

(A) |tf & (B) |m,n|
(€) [fv] (D) 10,9]
Phonetic symbol / transcription for the word ‘Guttation” is :
(A) | ea'taf(o)n| (B) |ga'terf{a)n
(C) | ga'ttes(o)n | (D) | ga'ttors(o)n

The fundamental order of listening, speaking, reading and writing should be followed; it 1s
the general characteristic of :

(A) Principles of selection (B) Principles of gradation
(C) Principles of habit formation (D) Follow the natural way
‘Leading from simple to complex” is used in the principles of
(A) Gradation (B) Habit formation
(C) Controlled vocabulary (D) Follow the natural way

Which one of these is a principle of “Translation cum Grammar® method ?

(A) To teach English directly.

(B) To establish bond or a link between thought, expression, experience and language.
(C) The unit of teaching is a word not the sentences,

(D) The sentence is the unit of teaching in this method.

Which method is a midway between the two old methods; (Translation cum Grammar
method and the Direct method) ?

(A) Inductive — Deductive method (B) Bilingual method

(C) Dr. Michael West’s new method (D) Audio Lingual method

Which one of these 1s related to the *Inductive — Deductive method’ of teaching English ?
(A) Itisaslow procedure.

(B) This method discourages the students to be mentally active.

(C) Priority of reading.

(D) The sentence is the umt of teaching in this method.
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Which skill is the basis of good learning of the language ?
(A) Speaking skill (B) Explaining skill
(C) Reinforcement skill (D) Listening skill
Choose the correct option which is not a technique for speaking skills
(A) Reproduction (B) Question — Answers
(C) Role play (D) Model Reading
According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four
(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado
(C) Rajgopalan (D) West

o ErE
Oral reading is also known as : Bhess
(A) Intensive reading (B) Silent reading
(C) Loud reading (D) Library reading
Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :
(A) Summative Assessment (B) Informative Assessment
(C) Annual Assessment (D) Formative Assessment
Which of these is not a technique of evaluation ?
(A) Appropriateness (B) Effectiveness
(C) Imitation (D) Practicability

Check-list technique is used for evaluation :

(A) results, attendance, participation in games, spotts.

(B) interest, attitudes and values of the students.

(C) of significant event and work performance of the students.
(D) None

Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?

(A) Hartog Committee (B) Hunter Commission

(C) Mudaliar Commission (D) None

Which one of these 1s not objective of CCE ?

(A) To make the process of teaching and learning a teacher — centred activity.
(B) To make the process of teaching and leaming a learer — centred activity.
(C) To help develop cognitive, psychomotor and effective skills.

(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 51 to 55

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of inertia; of a new spirit and also the dead hand of the past and of
privileges: of an overall and growing unity and many disruptive tendencies. Withal there is
a great vitality and ferment in people’s minds and activities.
It 1s remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.
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Choose the synonym for the word ‘vitality” :

(A) lethargy (B) torpidity
(C) energy (D) externality
Choose the antonym for the word “anguish’ :

(A) costacy (B) agony

(C) excruciation (D) affliction

Choose the correctly spelt word :

(A) Fermantation (B) Presantation
(C) Picturesque (D) Resoluation
e
‘Adverb’ for the word ‘disruptive’ will be : &
(A) disrupt (B) disruptively
(C) disruption (D) disrupter
Choose one word for *a tendency to do nothing or to remain unchanged’ :
(A) anguish (B) disruptive
(C) ferment (D) inertia

Read the passage and answer the Question Nos. 56 to 60 :

The rich can provide their clildren with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
1s no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

......... and every other imaginable comfort and luxury. Here “imaginable’ is
(A) anoun (B) a conjunction
(C) anadjective (D) anadverb

Choose compound adjective from the phrase ‘well-bred parents’.
(A) well-parents (B) well-bred

(C) well (D) bred

Which one of these phrase has a determuner in it ?

(A) But they simply cannot give.

(B) The rich can provide their children all they need.

(C) There is no substitute.

(D) Hired attendants develop twisted personality.

“These children who are brought up almost entirely by hired attendants develop a twisted
personality.’

Which tense 1s used in the above sentence ?

(A) Present perfect (B) Present continuous

(C) Present indefinite (D) Past indefinite

Which of the following has the three degrees of the adjective in their correct form ?
(A) Simple, more simple, most simple (B)  Rich, more rich, most rich
(C) Little, less, lcast (D) Expensive, expensiver, expensivest
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SECTION - III
LANGUAGE - 11
ENGLISH

There are 30 questions in all n this Section.
All questions are compulsory.

6l. You be ashamed of yourself having made such a comment.
(A) may (B) should
(C) can (D) could
62. He chased the thief as far as he
(A) may (B) should
(C) can (D) could
63. The car seemed to have
(A) beat the bush (B) tried to pin
(C) vanished into thin air (D) boarded the wrong train
64. ‘Drama’ originated in
(A) Greece (B) Rome
(C) ltaly (D) England
65. An ‘octave’ is a stanza with lines.
(A) 6 (B)y 14
(©) 12 (D) 8
66. The twenty-six letters of alphabet have sound symbols,
(A) 20 (B) 24
(C) 44 (D) 45
67. The phonetic symbol of the underlined letter in the word ‘thin” 1s
(A) o (B)
€ 3 D) &
68. The phonetic transcription of ‘lung” 1s
(A) /lag/ (B) /long/
(C) /long/ (D) /lem/
69. The word having the sound of ‘€3 1s
(A) pear (B) hire
(C) moor (D) roar
70. ‘h’isa sound.
(A) voiceless (B) wvoiced
(C) palatal (D) wvelar
T1.  *Expression should be impressive’ is an imperative of
(A) Accuracy and correctness (B) Naturalness
(C) Measurement (D) Evaluation
72.  ‘Freedom on part of the speaker is essential ......... 1s a rationale of
(A) Direct method (B) Structural approach
(C) Communicative approach (D) Substitution approach
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1$ an advantage of communicative approach.

(A) Listening (B) Speech ability

(C) Writing (D) Reading habits

Language has

(A) script (B) gesture

(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn in family and
from environment.

(A) Bengali, English (B) Bengali, Hindi

(C) Hindi, English (D) Hindi, Sansknt

Evaluation is done on two basics

(A) cumulative (B) terminal

(C) sessional (D) formative and summative

The comprehensive evaluation involves EVE

(A) assessment of answer books. B

(B) performance in co-curricular activities.
(C) assessment of health habits, work habits, cleanliness and co-operation.
(D) All of the above

‘Class magazines’ is an example of
(A) assignment (B) project work
(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them.

(D) make the weak students aware of their backwardness.

Remedial teacher should keep a liasoning with the parents to
(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging.
(C) work in same environment.

(D) rebuke the students.

(Prose passage Q. Nos. 81-85)

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sca. But, they, in a way, were proud too. Building a big boat like this in their village was an
achievement.

Do you like to cat a pizza ? Do you prefer a hamburger ? The two questions can be combined

using
(A) and (B) or
(C) but (D) that

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2
82,

84.

86.

87.

88.

89.

90.

(43)
I am sure. It is true. The two sentences can be combined using
(A) so (B) than
(C) but (D) that
Many a man done this.
(C) was (D) were E’iﬁf
Gold and silver precious metals,
(A) is (B) has
(C) have (D) are
AU no one had a word for it’ ......... The underlined word in the line from the passage
stands for
(A) the boat (B) the people
(C) sea (D) achievement

(Poem Passage Q. Nos. 86-90)
‘Weavers weaving at break of day,
Why do you weave a garment so gay ?
Blue as the wings of a halcyon wild,

We weave the robes of a new-born child.”

‘Blue as the wings of a halcyon wild.” The figure of speech used in the extract is
(A) alliteration (B) simile

(C) metaphor (D) assonance

The rhyme scheme in the stanza is

(A) aabb (B) bbaa
(C) abab (D) abba
The plot of a story may be

(A) comic (B) tragic
(C) satiric (D) all

Dravid was the wall of our cricket team.

(A) Smule (B) Metaphor

(C) Personification (D) Rhyme

Inanimate objects and abstract notions are spoken of as having life and intelligence in
(A) metaphor (B) simile

(C) personification (D) plot
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©UE - 111
HE - 11

mﬁmm:@ﬁfl

|qQ YT GHIYET: |
‘B’ (30) 3fa wreewr wf e fog yeaf< ¢
(A) e B) gfeers
(C) TLahics (D) IwafeTs
HTETEEATI] 81 FFUi wafa ?
(A) 3me (B) 3
(€) ufe (D) arfg
HTER IATORYH e 7
(A) TRt (B) *U3:
(C) a1 (D) =
o T Whid 9. frgraengagam | 7
(A) Tawfa: (B) 31mIed
(C) @I (D) wgew
‘W%:ﬁﬁ:’mmw-
(A) v e dfe: (B) YR HC: T:
(C) Fu0 we: fir: (D) F91 we: fir:
& el 3o areafie e -
(A) <@ TeFamT 37 | (B) <d: U&HS: 3o |
(C) <@ TxaH 7 | (D) <3 TFE 379 |

“ehdl 1 3TBIA THINE HHATE T 1Y -

(A) v FH g (B)
(C) o v §9d (D)

AT FA T
FA T 7
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(45)
fyregen farsa Tl 3 B 1 o7 SEpAATE: HOM: -
(A) ez farsd wpeafa | (B) Tonegs: firema wpeafa |
(C)  Frereh: farsaiv wgpeaf | (D) e farearq wgpeafd |
fFrafofaaarsy g o 5y 7
(A) TrwEe o famfs | (B) off: Frgeranyfa 7 famfay |
(C) o Frvaanyfq 3 fomfa | (D) ofRT: Frgeranedn = fmfe |

SR T 7w | e Ff |

(A) 3T JFATCATY, (B) 3rmenfd
(C) e (D) 3TTeHA:

O
gafafiy: wefiR T R 7 ®
(A) SRRy (B) dae-foamefafy:

(C)  3mmfaf: (D) Tmeferfiy:

FHATHINC &I - AT Tgeoed 7

(A) & (B) SGFERU
(C) ™= (D) weH
srfefgafafiny wommmafafrf -

(A) TSI (B) friufafy.

(C) TTHATCH-3TTTH: (D) Tl - sreray

“ngzEe: Tardite: fargamrtsR” 3fd e [ wgeay ¢

(A) ST (B) wreITeNTEE

(C) TTSATETHIAR (D) ETEATHS — IUTTHTER
oA SergraTa i T foRy 7

(A) FIfrrom (B) e

(C) gemfaeon (D)  ¥FaTe:
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%6, st g AT s Fafs 7

(A) TSI (B) weaafafn:

(C) WUSHHRTIIT: (D) TSI
77.  “GeATgA’ 3f0 shige ik sfed 7

(A) ¥dad (B) ferm

(C) Fa®g (D) wfesg

78. I HRE © w3 foe 7

(A) e B) famfirgr:
(C) Tneguifartes (D) FnevmEptarery
=
79.  sifefigey sreraneH ifE - =
(A) e (B) g
(C) @-AAfyeiEa=y (D) wiaFf:

80, ‘HIRIHR:" 3 F&F 9T ?
(A) ToATETH (B) Toemifasy
(C) foreorgmm (D) I

sreiforfigay smfsamarmadiee T (81-85) THTEAT: -

e T Waayy 31fEd | Gaey a9 YRaHTa i fergam: | ¥g1 s 9 WA i
agq wes Qe gflE: s | e, asafiers:, afedreEEada:,
FLEAICAHIRTN: $TEH: WE: UPWadT: dai: o Wiaad qa-arl: ume Hi=ig
HEa fad-: | $gut @ sife: S Sl = wfa srenrss weq |

81, ‘AWM’ g 1 fawfed: ?
(A) F¥AT (B) w8l
(C) et (D) et

82. ‘hdd~d:’ 3IA h: qeAT: ?
(A) g (B)
(C) 3] (D) #ddq
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47
AR 30TF HeTureg: h: 7
(A) =@ (B) 9
(C) Afe (D) 3
TPIHT:* 309 %: AT 7
(A) grg:HHMH: (B) %‘IHWFH:
(C) TCLEIEHTH: (D) FFFIEGIH:
St va Wifar: srmes Yo e WEifha-ue R w7
(A) HEIEHHTEH, (B) SEHEFRHY,
(C) FARERTHRHY (D) T,

frferiad wemem smeTieher YT (86-90) TR —
YT e fagTa FaT= St Wataay | %g@
g FuemR s afer yra - ya- afes Tt ||

aeTaT s g %: TRW: 7

(A) TCETHHCI: (B) JHETHHR:
(C) AT (D) FreaTa:
IR ~ T Fetel Feb1ie e fasrsae fomy 7

(A) (B) wferery
(C) &~ (D) I

a0 37 T forgm afa 7

(A) Tfestsy (B) wifergy
(C) TqEHiersy (D) Ivaferey
fegra 303 &: 9wy 7

(A) (B) Y
(C) (D) 49

sfer IRjfeatan T fF o= a8 7
(A) g1 (B) 3urfd:
(C) Zaa (D) Jo=saa
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Qug - 11
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faeht
B 30 gaTet JATTEA
WG YATE 0T S AT |
61, TE TN FaH G -
(A) 949394 (B) @Y
(C) IBAAS (D) 9HTHH
62. W@ A’ forelt 9=t a1 —
(A) wrd! feafy (B) 3wt ferfy
(C) ot fefy (D) 3% fafy
63, Ffier @ YT A 3 IR - 240
(A) T (B) 4
(C) e (D) TS
64, TIE A fARER  w
(A) AV TEH<E (B) 101 A<
(C) TEigd (D) sHF
65. “Tiia FeTTe Wi A 37T, B IS W F A 21 JHfeare] gum | H e 398 -
(A) e (B) U
©) & (D) Fum
66. “Toftar 37 @ Afiel St 31eg IS IR
(A) Toftar 37 @rEd (B) TR 3@ @ |
(C) Tiiar 3ig T i (D) Tft 37 @ |
67. R T W firg TR
(A) 3ER (B) T
(C) s (D) wizem
68. e et -
1. it s (i) fasrem
2. HmEfs F (i) gt =
3. W (iii) 7|

4. THATE AR (iv) & HO
(A) 1(v) 2Gi) 3G 4()
(B) 1() 2(Gi) 3Gi) 4(iv)
(C) 1() 2Gi) 3G 4(v)
(D) 1Gi)y 2(Gii) 3(@v) 43
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(A) fegm (B) F T fewm
(C) g (D) T
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82. ORI Hell S AT -
(A) 3T (B) or@d
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(D) TAye, 9@, dider ®

(81-85) I3 v 1 § vz I Aes 899 81 3 852 P39 b

Ul Afgnmara et feil-3ars = RignaTa a1 J, TR 377 98 84 feng agese 96 | feg €9
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(86-90) J5 8t arfe-de & ug 4 HE's 699 86 3 90 € F39 ol : -

86.

87.

88.

89.

90.

W UBeaT €13 I 3UYTS,
HeT i 3 o ot 8 i,
JEfdagdsftenzne |

9§ HASd A feeg ve |

Sz afe-duvrged:
(A) F=EPT
(C) &3

Qaz arfe-do v = In T
(A) Haar
(C) Hg3H IR

SR afe-deTrafeguyd:
(A) fdmm
(C) a&t

YRS HES ST WIE J ¢
(A) 93
(C) 2t zadhr

‘J% HEE T MIEJ ;
(A) IHS
(C) T

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

EE'E
? []

dd&T IH

Jed IH

14
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61.

62.

63.

64.

66.

67.

(61)
S — 111
L - I
dovRicl

L ASHL 5EL 30 WAL 8.

ER8 UHAL el Ml 53 (vl 5.

IR~ S GHELAL 05 U AR 526G UOEHSN S 7

(A) 5000 21061 (B) 3000 2Ll
(C) 2000 21061 (D) 1000 W€l

5
% <l D15 GERA viA D15 (LU, o] SR A 53 cllsd S ¢ -
(A) g Ut (B) ¥yl dll4
(C) Mgz (D) Rstasu

' sl W Rl SRl UsRAUAL 5ULUSIRAL S ¢
(A) Uz (B) Yt MRS
(C) sdk (D) s+l

el (Al (5301 AL (el U Ul
(A) ALl A, A (B) L, =l
(C) A, M (D) e, %

gt 101 251 . AUl AL A DAL
(A) & (B) swil
(C) usl (D) v

Bl 81 R — Al 58 (e & 7
(A) Gl (B) il
(C) uAl (D) &l

rgetHizll {3 U wlsRIME A0EIA sUL UCEL sSR!

(A) den (B) dged
(C) & (D) uwuidl
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68.

69.

70.

T1.

72.

73.

74.

76.

(62) PL-2

‘Szl 1006 ¢ el 2AREL S 9
(A) sRal (B) i3l
(C) 2roll (D) ol

(el dsuls 2o Fsauaat Hiz 56 2Els wgld 4y Gl ol 2 6 ¢
(A) e wgld (B) agul wgld
(C)  ARHER gl (D) <ol wgld

AlRieiall 53 st il BeleroL 420 ¢
(A) Ugddds (B) 2108514l Okdd)
(C)  Rel=redl (D) sl kY =

gL S, WelAUg, ddlsad ovdl uviealRis Ugll sul Sluedd snadl ugeil
S

(A) A Slaed (B) sa-idluey

(C) - Blaled (D) Qi slaied

Hedls sl ubu s ¢
(A) Wwoubus. (B) 5B ubu .

(C) déqaallulus. (D) s reisaadl Weau s,

(HotutteHs AL HUlEL £R 5341 HI2 Sl WS RAL WALl RUAL SRAHL 2 6 9

(A) 2513 (B) widlcHetedl uzll
(C)  ildagRicHs wil (D) ds(Eas sl

Al 565 520171 [1gts 2Rd s2A412] 2] 9
(A) ol Heuls (B) 54 Heuls
(€) Rla 5202l (D) oifis 52012l

A2 G DA (e ol 2AURRAL o RuAL
(A) 5551 A GARIER L st (B) il = Wkaesel 2unl
(C) <l oP1REL 2 e (D) BuRlscl otul

wl( GayR0l WEUHL SRl Alg -2l sUL 2tcanl AL Adl 2 ¢

(A) =l (B) 2z
(C) &8 (D) =iLullAl
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77.

18.

79.

80.

(63)

Al sl 3 i 1= %5 9
(A)  sle(E1R1s sl i Wdesilel Sldl A=A,

(B) et [RiEs™H - [AstA st éig 3Rl 6. -
(C) G [R1Ats L HeAlElstio s 33 2L, B

(D) s FRieuaEl sie b .

HiMHMIAL A RASAL GIRL QEEL 2BUL.

(i) WAy (i) otrell 2 Hgel
(iii) [AwuRq, (iv) e

(A) (i) (B) (i)t (ii)

(C) (iii) 2 (iv) D) (iv)

(115 2dalls 121 Fael Heuis 56 ugliel 52l us & ¢

(A)  [A=lzoL (B) uslér2

(C) SHHMES (D)  GuRlsd ol

Alarriel] wigg ARl LA
(A) UBE-l-Al 2L SRl (B) G A5201 B LURM.
(C) A umle £1 53, (D) 2ol g el HoL s,

120 AL UL AR WA vl 81 2l 83l Yl @A :

UL 59, 4 53 2 wAsell Besit GvHA oy=H A0 dl w2l il d=ls 2u el

wodld Sl [de ol 25, ellmdl Firgedt, ollvnd wgeel 21 olsi] drdsid
(e HiZ SH AR 2 ol Y5 15, DAl DARL RARS[AAL LAURRAM Al HistR AL ML
%[5 2AEL 20U AL 1A,

81.

82.

83.

N

Betstet GlvHAL HidL dElE 2A0GL S1A ALALA 1A ¢
(A) Ul (B) bl
(C) e (D) Uzl

25, (AR, tg1d 2 drdsiied el Sl 2yl 2Rl 2 SHa witeR L =R ol Yl
£ 9

(A) [etrse ¢l (B) GRLAUA 5™
(€) =% (D) gt
HEPRN UOEH Sl HHA S

(A) &g UHA (B) udleud
(C) de Ry (D) sHuRY
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A (64)

Al2L AU UELLLLAL AR UL 84 2] 85l arellot AL :
2l 2155 2l esul gls3l ;
& Yo - A gHgHAL [Aasui £lsil.
2o 220} 2 2, o AL URUIM B,
Sl ¢ 5lef Rl esHl gls3l.

84.  lsR reolul sl 2AZU A S 9
(A) &l Besul (B) &laAl sesul
(C) gell=Al-ll seswl (D) 2421l BeisHl

85, e wee [l

(A) yleadl (B) illebdl
(C) usleal (D) sl (et 2l

86.  slel i, dra, 1A, M Al GUAAL AMA 2] sdald 7
(A) sl (B)  udA @%
(C) (Rt (D) Balamel

87.  ‘Geltaltl 2oL isell 42l dlsml (Bl sy 5 7
(A) Gl (B) =ilell
(C) sl (D) -l

88.  “Slrirl 50151 UM IA ARL AlHL HAESRAL USER Ul
(A) 345 (B) Guyat
(C) Gelau (D) <dzs

89.  CUMHL ol sl UUBL Asell 514 S3ell U 2 Sl 9
(A) [Qaimet (B) <
(C) s (D) ¥d™

90. Al sl elmusion A 2ol

(A) €8s, (B) HERIY 4oL 4R ELEALILIRAL.
(C)  alEIRA HE R HOAUL %74, (D) o A4z izl 53 .
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SECTION-IV /@€Ug - 1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

70 @ug 1 g ITEvE 37T [V(a) nivra qen fasm vd 1V(b) amnfes seram € | 2H1 STavel &
T 1 60 FEfeheda T £ |

iiereff 1 1V (a) 70T aen fomm 12en 1V (b) Amaes stsam, fen! 999 ST sirded - |
fopan 3, A fereft weh 3mave 1 91 2 Ue Tl 60 T 1 3T 2 |

SECTION-1V(a) / ©US - IV(a)

MATHEMATICS AND SCIENCE / TTfora aeft fagm

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

30 @ve W e 60 T 7 | T snaf¥at 3 3a fawa &1 =2 o 2 32 ol oo e e 7

=
91. A factor of the expression x* — 2x + 1 is : =
(A) x-1 (B) x+1
(C) x+2 (D) x-2
& 13 — 2x + | %1 U PHETE R ;
(A) x-1 (B) x+1
(C) x+2 (D) x-2

~

Fa

92. The solution of the equation w4 26" 0is:
(A) 0 (B) 1
) 3 (D) 2
TH R I OFIEAL:
Ix—4 2x—6
(A) 0 (B) 1
(€) 3 (D) 2
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93.

9.

95.

96.

97.

(66) PL-2

o
125 1s equal to :
J* ’V_ q
7
(A) 7 (B) 1
4 |
(€) 5 D) 37
U ;
g 5
.
(A) 7 B) 3
4 1
© 3 D) 7

: : 3 .y
The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :

(A) 10% (B) 8%
©) 12% (D) 14%
?ﬂ?wﬁmsaﬁmmwmn@mm%am%,a‘lm%nmm?ﬁa{m:
(A) 10% (B) 8%
(C) 12% (D) 14%

If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for X 720, then the cost price of the article is :

(A) 665 (B) %615

(€) T 600 (D) 620

afe fepet areg 1 T 560 8 o= @ gd &1, T 720 SR & U AT A T 50 e A, A awg B
WW%

(A) 665 (B) %615

(€) T 600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2

(C) 4:3 (D) 3:5

afe 5 et qUT 4 UGl HT Yoo 3 el AT 7 Wal & Yoo & TR &, a Teh shet adT Th U9 %
el 1 S &

(A) 1:4 (By 3:2

(C) 4:3 (D) 3:5

If 75 1s added to 75% of a number, the same number is obtained, then that number 1s :
(A) 300 (B) 270

(C) 250 (D) 225

afe fereh T 3 75% § 75 SeeR I HEAT 9T B S0, J 98 9E R

(A) 300 (B)y 270

(C) 250 (D) 225
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98.

99.

(67)

The present population of a village is 1,30,910. If in the previous years there is an increasc
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1.30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

T 7T S FIHH SHEEAT 1,30,910 2 | 2 T 7w # shEn: 6% hi afg, 5% H FA, 4% i
afg 78 21, a1 3 T gd it s ot

(A) 1.30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

In the given figure, the lines XY and MN intersect at point O. [f Z/POY = 90° and
a:b=2:3, then the value of Zc will be :

ip
M
EEE
a 2
b
— ( —
C
N
(A) 90° (B) 126°
(C) 144° (D) 150°

fe w3 o Tand Xy a2 MN fag O W wfereae @t € 132 ZPOY = 90° 3R a:b=2:3
é},?ﬁ‘ZC'QFTHFHEﬁTﬂ:

p
M
d
b
— ( —
C
N
(A) 90° (B) 126°
(C) 144° (D) 150°
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100.

101.

102.

103.

104.

(68) PL-2

If all the three sides of one triangle are equal to the corresponding three sides of another
triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

afe U Freget 1 i Yo, gu g i g AT e F e &, 6 <Hi e Ea E
(A) oHEq (B) watmEm

(C) FHH (D) 38§ FI3 T

The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :
(A) 12c¢m (B) l4cm

(C) 18c¢cm (D) l6cem

10 i B 9@ 99 % 3 8 o tfiR g mfRm o Hr darg 2

(A) 129 (B) 4% Erm

(€) 18 (D) 163 5

If the perimeter of an equilateral triangle 1s 48 ¢cm, then its area will be :

(A) 6443 cm? (B) 5542 cm?

(C) 31/3 em? (D) None of these

afe foret wHaTg Brgw 1 afeg 48 G 21, 1 381 She g -

(A) 6443 i ol (B) 5542 = &t

(C) 3243 T &f (D) 0 & %15 T&

If the lengths of the diagonals of a rhombus are 10 cm and 24 ¢m, then its perimeter will
be:

(A) 34cm (B) 68 cm
(C) 52cm (D) 56¢cm
7fe veh vEqs & foemuit 6t ergat 10 9=ditet it 24 9<diet 21, @ SweR! 7T g -
(A) 345 (B) 68 ot
(C) 52 @t (D) 56T

A room is 12 metres long, 9 metres wide and 8 metres high. What 1s the ongest rod that
can be placed in 1t ?

(A) 29 metre (B) 17 metre

(C) 15 metre (D) 21 metre

T S 12 Hiet o, 9 Higt =g 9ur 8 fid Su1 2 | 390 7€ & €1 fobart oivait wg Tt o
g 2 7

(A) 297t (B) 179

(C) 15t (D) 21#&
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105.

106.

107.

108.

(69)

The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form.

(D) All of these

i 1 T 3299 ¢ -

(A) THHI & 3] Fararadani o SR TR TG HT |

(B) HWS| I HHG T € 4 TG HT |

(C) Sifeet aval =i wtel §1 1 S e | s@{&
(D) ATt

The mode value of a series 1s :

(A) Intermediate value (B) Most frequency value
(C) Minimum frequency value (D) Marginal value

fepeft 2roft 1 Sges qea g 2 -

(A) TEEd I (B) Wi SRRaT Ied
(C) T SOETET 4o (D) Har=< ger

The coordinates of a point on the X-axis are :

(A (2,3) (B) (0.2)
C) (2,0 (D) (1, 1)
X-3181 T e fareg % fagumen 2

(A) (2.3) (B) (0,2)
(€C) (2.0 (D) (1.1)

The probability of having 53 Tuesdays in an ordinary year is :

@ 7 ® 2
o3 o
T W Y § 53 WICTAR B i T 2 -
*) 3 ® >
© 3 ™ 3
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110.

111.

112,

113.

(70) PL-2

Which of the following is a teaching aid of Mathematics ?

(A) Napier strips (B) Logarithmic table
(C) Geometry box (D) All of these

1 4 & nifra freron i e anwft 2

(A) e et (B) TSR Gt
(C) wafufa s (D) 3ot

Which of the following Mathematical statement 1s true 7
(A) Evaluation = Measurement + Judgement

(B) Evaluation = Measurement — Judgement

(C) Evaluation = Judgement — Measurement

(D) Evaluation = Measurement + Judgement
fadasm o sy g2 7

(A) TeiEA = AT + fofa (B) Hediehd = A1 - faof
(C) eI = v — q19q (D) Hediehd = A1 + Foig

Of:40)
!'ll 1
(8]

Which of the following is not an Indian Mathematician ?

(A) Ramanujan (B) Brahmagupta

(C) Aryabhatta (D) Pythagoras

1 1 9 1 et nfirag 17 7 2

(A) THTLSH (B) &

(C) 3mivg (D) TETIRE

Which of the following is not the type of cognitive objective in Mathematics teaching ?
(A) Knowledge (B) Understand

(C) Skills (D) Application

feaferfiga o @ 17 91 nfora fre o ST 329 1 UE USR TE 2 7
(A) M (B) IrEEly

(C) =iy (D) ST

Which of the following is not a method of Evaluation of teaching Mathematics ?
(A) Supervision

(B) Interview

(C) Teaching model created by student

(D) Dictation

ot 3 9 ¥ €t e R 3 e 1 faf T 2 7

(A) Frdtem (B) HI&T=HR

(C) BEigr s WemAled (D) Zfie@

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2 (71)

114. Mathematical statement whose truth has been proved is called :

(A) Theorem (B) Axiom

(C) Conjecture (D) Postulates

riforefter e frerht oo firg A 8 2, Feemar 2 -

(A) W (B) rtyfEd

(C) g (D)  Ffiremom 5@%@
D)

115. Main objective of Geometry teaching is :
(A) To teach the use and measurement of mathematical tools.
(B) To develop creative imagination in student.
(C) To develop the power of object transmission in the student.
(D) All of these
o forem a1 e T B
(A) TIforelar SUeRTUTt % YEIT UE A1 1 {14 R |
(B) BT H TETHS el YIith o T&rehTE T |
(C) BT H o v Wik 1 foehma & |
(D) ¥ Tt

116. “Child is able to Recall definition of Rectangle.” This statement shows which learning

objective ?

(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

‘I ST Hl TRATHT T TARHTT B TR |7 T8 FYA S & 0 399 I WA
HAE 7

(A) FEay (B) fererm

(€) FH (D) YA
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117.

118.

119,

120.

(72) PL-2

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

T STeA G T WY % SR T e Brpel Y o1 o2 aTar 2 | srereh o1 39 fafafy g e
T e 1 fd 2l 2 7

(A) T (B) NI

(€) Heo (D) S

Children with strong intellect do not have qualities :
(A) They are more curious. E%
(B) Their area of interest are broader.

(C) They are emotionally unstable.

(D) The knowledge of reasoning is visible from young age.

S §fg el Wit ! 3 I8 0 781 8l & —

(A) 3 3fe SEg e |

(B) el 1 1 & I BT 2 |

(C) 3 STereh HemeAsh g8 & FRAEEA 2 |

(D) 3oy & & qeh vl 7 7 gl T 2 |

I£ 30+ 8) =272+ 1) then the value of x is :

(A) 0 (B) 1
(C) 2 (D) 3
A 30+ =272 D FxFAAR :

(A) 0 (B) 1
() 2 (D) 3

b ? ™ l ] M
If x +y=7and x- + y= = 25, then the value of (T + ;} IS :

12 7
(A) = (B) 55
7 1
© 13 D) To
el 2 I‘ l
?Tfﬁ_r-ry:?3ﬁ(.\'—+y—=253}f,ﬁf[:+gjﬂﬂﬁ%:
12 7
(A) = (B) 35
7 1
© 17 D) 75

https.//www.pygonline.com


https://www.pyqonline.com/

PL-2

121.

122.

123,

124.

Full name of LED is :

(73)

(A) Light Emitting Doll (B) Light Emitting Dynamo
(C) Light Emitting Drum (D) Light Emitting Diode
LED T 931 779 211 2 :
(A) TR 3cESH B (B) WY IcH=T SN
(C) IS 3T g (D) TS Scdih SIS

. o
Electric-cell converts %ﬁ;

(A) mechanical energy into electric energy.

(B) electric energy into mechanical energy.

(C) chemical energy into electric energy.

(D) electric energy into sound energy.

fereg-&re wftafda =+t 2

(A) Fif St wifrmaats  (B) forga i & it o °
(C) T e # faga Ft 8 (D) foga e it wfa Fai o

Order of planets according to distance from the Sun is :
(A) Mercury, Venus, Mars, Earth
(B) Venus, Mercury, Earth, Mars
(C) Mercury, Venus, Earth, Mars
(D) Mercury, Earth, Venus, Mars

4 8 o IR IE FTHTR

(A) T4, I, 71, Jet
(C) 4, I, 7f, T

(B)

6, g4, G, T

(D) 9, get, W, B

Which of the following is not a criteria of a good test ?

(A) Reliability
(C) Objectivity

(A) Tovagftaa
(C) agfmaar

(B)

Validity

(D) Subjectivity
freferfiga § & @ 91 U 378 T S 9T9EE T8 8 7

(B)

e

(D) SAfFIRHRAT
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128.

129.

130.

131.
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. The process used in the separation of rice from paddy stalks is —

(A) Hand picking (B) Threshing

(O Wilmow@ng . (D) _Sicving

=Terel =61 gl Sl & HTe o qUEHR H S S 2 - wom
(A) &= (B) aifam 2y
(C) frman (D) =TeH

One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation

(C) Vaporisation (D‘) Filtration

TR St W AR T S o Wehd I Y T TS R -

(A) FEEd (B) ®aTH

(C) oM (D) e

The chemical substance present in calamine solution that is applied on the skin to
neutralise the effect of ant bite is —

(A) Calcium carbonate (B) Zinc carbonate

(C) Sodium carbonate (D) Sodium hydroxide

IS % 1 F IUE Fl I FH F f00, w&=1 /T F1 a1 Saq e § sufen
EIRIEEA A

(A) Ffeoam Faie (B) TS #rame

(C) @ifean FEHe (D) @ifeaw EgaTss

The oxide responsible for acid-rain is —

(A) H,0 (B) CO

(€) SO, (D) CO,

A -1 & ToAu Joeereft S 2 -

(A) H)O (B) CO

(C)y SO, (D) CO,

The pair of thermosetting plastic 1s —

(A) Polythene, PVC (B) Polythene, Melamine
(C) Bakelite, PVC (D) Bakelite, Melamine
o e 1 49 2 -

(A) wiferefia, diefteh (B) iferefH, Sermrsd

(C) dharge, diefiet (D) Seherge, HATTE

The fuel with highest calorific value in kJ/kg unit is -

(A) CNG (B) LPG

(C) Pctml. (D) Hydrogen

k)/kg 3T § Hatfe i 7 are §69 § -

(A) HieFf (B) TS

(C) g (D) ETEgH

The type of teaching aid involved in experiment done by a student in laboratory is —
(A) Audio aid (B) Visual aid

(C) Audio-visual aid . (D) Activity aid

e fereneff gro wermTye ® wam fond s o ffga faneqor anem &1 weR 2 -
(A) o 19 (B) 399 €19

(C) ¥I-g9a TEH (D) FerarcHss e
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132.

133.

134.

1360

(75)

In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista
(C) Fungi (D) Plantae
form wmg | w wINERR, i Sfita affrford e 9 8 2
(A) FHT (B) wifewT
(C) ®=TE (D) it

After fertilization, a mature and developed ovary is known as —
(A) Seced (B) Endosperm

(C) Fruit (D) Embryo

T9eR < gvaTd, U faesfom 9 uftee SveTe # wgd @ -

(A) o (B) wwErm

(C) & (D) ¥m

Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide
(C) Chlorophyll (D) Oxygen

e TSTEYESY] 3 foAU R STevarsh 981 2 7

(A) T FITHEE (B) T S3HTETSS
(C) T (D) HTefisH

(A) Kreb’s cyele (B) Calvin cycle
(C) Glycolysis (D) Fermentation
el T Y 3 S oI 1 TERide 3 § e et 2 —
(A) hsd Tsh (B) hicer =sh
(C) TEHAGE (D) fepvam

Who first described Golgi apparatus ?

(A) Robert Hooke (B) Robert Brown
(C) Camilio Golgi (D) Lecuwenhock
TEYUY Tiewl SUH I fhe aftfa fopar 7

(A) Tse g (B) TS s+
(C) et el (D) TS
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Which bacterium causes “Whooping Cough’ disease in human ?

(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae

i B i) & aFe 7 el @ AT 7

(A) aREien T (B) iawEm fewefas

(C) TEHNFINET T (D) i THfET

Which type of sweat glands are present in human skin ?

(A) Apocrine (B) Holocrine

(C) Eccrine (D) All of these EYE
. e 2 ~ilea:

e o o we uial B @ v e € 7 a

(A) THThIEA (B) EIetishlgd

(C) T (D) 3 |eft

Disease caused by deficiency of Vitamin-D (Calciterol) 1s :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
faeTfim -2 (Sfeafetar) < =i & 2 aren i 2
(A) T (B) sf-s@
(C) wdf (D) fehe

In which animal asexual reproduction occurs by budding ?

(A) Amoeba (B) Hydra

(C) Plasmodium (D) Leishmania
S § SRt § Yoo gRI AT 54 211 8 7

(A) s (B) ®rEgT

(C) wir=Hifeam (D) e
Which hormone controls maturation of egg in ovary ?
(A) FSH (B) TSH

(C) ADH (D) GH

Fid |1 g 3T § 3721] o uftaead 1 b w2 7
(A) FSH (B) TSH

(C) ADH (D) GH
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146.

(77)
Example of sexually transmitted discase is -
(A) TB. (B) Cancer
(C) Gonorrhoea (D) Pneumonia
I TN THT T 3SR & —
(A) & (B) &R
(C) T (D) =gt
The example of Kharif crop is — S
(A) Gram (B) Pea ®
(C) Maize (D) Linseed
i ) HEe H IZE 2 —
(A) = (B) HX
(C) A%=h (D) 3rerEh
Which of the following is the oldest teaching method ?
(A) Reminiscences method (B) Evaluation method
(C) Projective method (D) Anecdote method
freferfiga o & o ot ge@ v e fafu 2 2
(A) wgf faft (B) WA fafyr
(C) wamv fafy (D) HaF! fafy

. Meaning of comprehensive evaluation in continuous and comprehensive evaluation —

(A) Evaluation of educational field

(B) Evaluation of co-educational field

(C) Evaluation of educational and co-educational field
(D) Evaluation of all subjects

HAd UE ST Yoo B ST Jediehe ol aIeH & —
(A) f¥e & =1 gt

(B) TE-Siarh &= &l g

(C) e 1a we -t &7 =1 qeie

(D) @it ferwari =1 qe—rTeRA

Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone
w1 =t R -wgrae aml §99-3usRtr § wieie 78 2 ¢
(A) NER (B) frem firw

(C) TR (D) UHEH
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A force F is acting on arca A. If the force is double and the area is halved, the resultant
pressure will be of the nitial pressure :

(A) half (B) double

(C) one-fourth (D) four times

U 5 F fRE 8 A WOE W@ R | 3fE 9 1 I auT & &0 o S, & wiomd g
TRIRTH 19 13 :

(A) 3N (B) g
(C) - (D) =g

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of convection.

(B) becomes cold by the process of radiation.

(C) becomes cold by the process of conduction.

(D) does not become cold.

THE I Uk T o STEHHM o @l § G a1 2 | 38961 @ i
(A) Haa UfshaT o IO 31 8l e |

(B) fafereor wfsran = sHmor 21 &1 smem | o
(C) =ITel TR o ST 381 2 ST | e
(D) @1 7@T & |

Image formed by a plane mirror is :

(A) virtual, behind the mirror and enlarged.

(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.

(D) real, behind the mirror and of the same size as the object.
Hreel VT g ST T s g R

(A) Fmret, edor & fie qur srafia

(B) et gy o 9 qun {6 & arge & st

(C) arEafereh, v < 53 T aen STafia

(D) avefes, gdu & f o1 foe & arest & T

. The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
ey s < fory, e Him g 2 ¢

(A) 10 Hz ¥ 20000 Hz (B) 10 Hz ¥ 2000 Hz

(C) 20 Hz ¥ 20000 Hz (D) 20 Hz ¥ 200000 Hz
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SECTION-1V(b) / @UE — IV(b)

SOCIAL STUDIES / TR HAETEH

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

38 @UE 1 oA 60 T 2 | T it 3 ga fawa o1 v fFen 2 3wty e e 2 |

91. At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently available were written down about 1500 years ago ?
(A) Valabhi (B) Lothal
(C) Rangpur (D) Bharuch
FAAH &Y U U S WErER ©F 3 srgaiEt $ Rend s 1500 o g gera #
fopg T w foredh 8 off 7

(A) doensft (B) oud
(C) W (D) 7&d
92. Which ‘Tripitaka’ tells us that there were separate branches for men and women in
*Sangha” ? e
(A) Abhidhamma Pitaka (B) Sutta Pitaka % {
(C) Vinaya Pitaka (D) None of these
oo A ges 37 ferdt o & Y arem- arer saeen off, 717 g e Bifies @ v wean @
(A) ey fies (B) Ha fiues
(C) foma fies (D) 34T HE TE

93.  Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?
(A) Godavari — Tungabhadra  (B) (Ganga— Son

(C) Chambal — Mahi (D) Krishna — Kaveri

FI7 t AfeET 3 Wy < A, -9 vg SR @1 39S §9H § 7gwqw IreH f 2
(A) TiETeH — s (B) T —HH

(C) =& —Hrd (D) I — e

94. Most of the Ashoka’s inscriptions have been found in -
(A) Praknt Language and Brahmi Script
(B) Pali Language and Devnagari Script
(C) Sanskrit Language and Brahmi Script
(D) Punjabi Language and Gurumukhi Script
319 < FfueRie sifeig M F -

(A) Srepa s S amEh faft () rfer sy oK G
(C) g&pd wrw s amal fft (D) et s ok el ffy

https.//www.pygonline.com


https://www.pyqonline.com/

A (80) PL-2

95. Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

oI 4 T -1 Y1 S SR b1 M fem SITeT o7 91 390 Yot & 311 TehR & oL Tl g
T TR I Y 7

(A) 3T (B) JIUBR

(C) 3 (D) Hfu-gH

96. In which language was the “Prayaga — Prashast” composed by Harishena, the court poet
of Samudragupta ?

(A) Prakrit (B) Hindi
(C) Pali (D) Sanskrit
AT~ 6t T BUET o U 2R 3 forw ey & o6t oft 7
(A) W% B) fe=
(C) wfet (D) EHd
97. The Shunga dynasty was founded by which General of the Mauryas ?
(A) Pushyamitra Shunga (B) Agnimitra Shunga
(C) Vasumitra Shunga (D) Devbhuti Shunga
37 591 b1 4T o WY AR GRS T ot 7 -
INERCIEER (B) nffirs g s

(C) F"EE (D) Tayfa g

98. Choose the Kamshka’s court poet who composed a biography of the Buddha, the

*Buddhacharita’.
(A) Saundranand (B) Ashvaghosha
(C) Shudrak (D) Harshvardhan
R BT TSTbTd T 10 g ! SAaHT, “Ggana’ i T b1 off |
(A) Hi<H< (B) gy
(€) g (D) &Y
99. Which was an administrative subdivision of a Mughal province ?
(A) Peshkash (B) Jaagir
(C) Millk_iyat . (D) Pargana
et id B T JOTE e TS S w7
(A) TR (B) SmiR
(C) fufewaa (D) U
100. Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?
(A) Tondaradippodi (B) Karaikkal Ammaiyar
(C) Tavram (D) Nalayira Divyaprabandham
TR Hl 1 U [T Hicd Heherd (78 aftred ag & &9 & off st <rar 2
(A) dieufewife (B) IGHHI ITHIR
(C) o (D) ARGy
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104.
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(81)

The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ?

(A) Kachhwaha (B) Rathore

(C) Parmar . (D) Chouhan
TSl YTk AR bt BTl fohdt T=iqd 91 & Haiferd oft 7
(A) =BT (B) T3l

(C) AR (D) =&H

“A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord
Dalhousie said this statement about which state ?
(A) Satara (B) Awadh
(C) Jhansi (D) Nagpur
“J el U e g € 43 W et FRom 1 1851 | TR Se e Seare A I8 H R

faTad o e A HET T ¢

(A) €N (B) 3=y

(OREL (D) AT

Which day was earmarked for “Direct Action Day™ ?

(A) 14 August 1948 (B) 16 August 1947

(C) 14 August 1946 (D) 16 August 1946

‘Seaed AT feaw 2 i @ fer fwii foman mam o 2

(A) 14 30T, 1948 (B) 16 31T, 1947 LD
(C) 14 377, 1946 (D) 16 37T, 1946 L

By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 years to 18 years ?

(A) 59 (B) 6l
(€ 63 (D) T
foper Tl TNy % 210 YR T 99w Wt 1 AT 21 99 & TeTeht 18 9 & =l 2
(A) 39 (B) 6l
(C) 63 (D) 71
. Which feature is not in the “Preamble” of the Constitution of India ?
(A) Secularism (B) Federal Government
(C) Political Justice (D) Equality of Status
R o W 6 ST 5 i o foermar 78 7 ¢
(A) vY-FRuemE (B) Helg A
(C) T = (D) wiesT =1 FHHEa]
Who was the Deputy Chairman of the Constituent Assembly in India ?
(A) Dr. Rajendra Prasad (B) K.M. Munshi
(O) AN Sinha (D) H.C. Mukhan
TR <1 wfaum fmi am & smag e & 2
(A) @I 7o v (B) .15, g
(C) v, fam (D) vt g
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“Right to Property” is presently mentioned in which Article of the Constitution of India ?

(A) 224(A) (B) 290 (A)
(C) 300 (A) (D) 312(A)
“gfer 7 IR adH o YR & wfa o R e A afifa g ¢
(A) 224 (%) (B) 290 (%)
(C) 300 () (D) 312 (%)

Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 74" (B) 81"
(C) 86" (D) 91t
6§ 14 T I o STl I IS % SO IUCTE FHUA 2 i T Fiag 9 o m 2
(A) 74a1 (B) 81dT
(C) s6dt (D) o1&

Who are included in the electoral college of the Vice-President of India ?
(A) Nominated members of Parliament

(B) Elected members of State Legislative Assemblies

(C) Both (A)and (B)

(D) Nominated members of State Legislative Assemblies

A & ITPIT & e 7ge § HiH Mie 8 7 v
(A) TR F wH v (B) T et 3 faifim wam R
(C) (A) 3 (B)gHi (D) U fauawrai & a4l aee

Which Article of the Constitution of India described the Power of the President to
“consult” the Supreme Court of India ?

(A) 143 (B) 147

(C) 140 (D) 145

T 3 FSAH ~ARTeT A W i i agufa B v wwa 5 wfvum % B sser dafifa oo
(A) 143 (B) 147

(C) 140 (D) 145

In which Part of Constitution of India described the Urban Local government ?
(A) 8 (B) 9(A)

© 11 (D) 10(A)

T o TG & T 97 7 95t Tt vmed afvid 2 7

(A) 8 (B) 9 ()

(€) 11 (D) 10 (F)

What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

(A) 2 (B) 3
(C) 4 (D) 5
T Tt AT Sea SR § = e afeen gew g e 2 2
(A) 2 (B) 3
() 4 (D) 5
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(83)
According to Article 74 of the Constitution of India on whose advice does the President act ?
(A) Council of Minister (B) Vice-President
(C) Speaker of Loksabha (D) Governor
R & TfIUH & 3w 74 % dad Upafd frgeh aemg & w1 Fa e 7
(A) Tt afeg (B) 3wgfd
(C) <IThTT 78 (D) TSI

Which of the following is a group of inner planets ?

(A) Mercury, Venus, Earth, Jupiter

(B) Venus, Earth, Mercury, Mars

(C) Earth, Mars, Venus, Jupiter

(D) Earth, Mars, Jupiter, Saturn

feferfiga o @ i @1 st o8l %1 & A 2 7

(A) T4, W, J2f, gefd (B) ¥, 9ot g4, WA

(C) v, W, I3, FEEIfd (D) g, W, geertd, I

c

. Which of the following 1s a correct statement with reference to latitude and longitude

respectively ?

(A) 87° North to 197° East (B) 56° North to 91° South

(C) 101° East to 192° West (D) 23° North to 66° East
frafofad O @ o s1ersn 9 o= = ey 1 o aifyeafad 2

(A) 87°3IH 197° 74 (B) 56°3Iad 91° gfaqor 5'3:%?;
© 10rTEdeaRE (D) 23°TWE 660 ®

Equinox is related to -

(A) 21 March
(C) 22 December

(B) 29 February
(D) 21 June

foqa wafaa & -

(A) 218 # (B) 29wt d

(C) 22 feamry (D) 21 H

Which range is located in the north-west direction of the Peninsular Plateau ?
(A) Vindhyachal (B) Satpura

(C) Aravalli (D) Eastern Ghats

i Ht e TEEE ToR % Fer-afvem fem § fyg @

(A) Tawme (B) HAYE!

(C) Faet (D) gdf =me

Which of the following is related to endogenic forces ?
(A) Wind, Glaciers, Volcano

(B) Volcano, Landslides, Earthquake

(C) Earthquake, Landslides, River

(D) Glaciers, Sea-waves, River

fefafian § 9 % |97 e g S g 2 2
(A) e, fme, sarameE (B) SSITCTTHE, JEEeH, Y
(C) M, YFEeH, TaI (D) fewe, Tt -, 7
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In 1947, he was then Director General of the Archacological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

(C) R.EM. Wheeler (D) Sir Jhon Marshal
1947 T WA JIeTcd FAET o eehleii SRRFE - 4
(A) FeiFaEt HiAaH (B) HR.H. F=i
(C) I, e (D) WS ATt

Which Satavahana ruler claimed to be both, a unique Brahmana (cka bamhana) and a
destroyer of the pride of Kshatriyas ?

(A) Satakami -1 (B) Shiv Skanda Satakarni

(C) Simuka (D) Gautamiputra Sri — Satakarni

[epe HTqETE EE 4 WA B S SV (U SIEHT) T &R % g1 1 & S ar
AR ?

(A) IR -SuH (B) o whe wraesuit

(C) foush (D) THEHI oft-vaemuii

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) 8% North (B) 15° North

(C) 27° North (D) 37° North

T W78 A W B Iureeestia gt S W g g ey W venfga g R 2

(A) 8°3TH (B) 15°3H EE
(C) 27° T (D) 37°3% B

The correct order of the physical regions of Rajasthan located from North to South is
(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains

(B) Luni Basin — Vindhyan range — Shekhawati Region — Mahi Plains

(C) Shekawati Region — Vindhyan range — Luni Basin — Mahi Plains

(D) Plains of Ghaghar — Bhorat Platcau — Shekhawati Region — Luni Basin
T o e wesTt o 3o & g feam & arafeufs 1wt o 2 -

(A) Taiem 3ot — oft afie - S w2 — e w1 HeE

(B) ot sftm — fae ovft - Sramed wewr — wTE w5t #gH

(C) et waw — e Avft — pft afet — vt 1 Be

(D) TR T H2H — YNIZ T 3R — WGad W — T afem

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Jojri, Berach, Menal

(C) Kothar, Som, Ruparel (D) Jojri, Bandi, Jawai

fafeiiga ® @ sre AUl 37eE 97 %1 ST R

(A) TATS, HIBA, 924 (B) SISEl, sEd, T
(C) ®1Br, g, TR (D) S, wiEh, Sarg
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124. Match the following :
Name of Sanctuary

(85)

Wild animal

(1) Desert National Park  (a) Panther

(2) Todgarh Raoli
(3) Sita Mata
(4) Mount Abu

(b) Bear
(¢) Great Indian Bustard
(d) Flying Squirrel

1M 2 6 @
(A) ¢ a d b
(B) a c b d
() d a C b
(D) b d a C
ghfer AT -

IRV AW T "
() wfEweEm (a) dgam
(2) <reme Tae (b) f®
(3) Htar arar (c) TEMEA
(4) S I (d) I fireredt

Mm @ @ @

(A) ¢ a d b
By a ¢ b d
¢y d a c b
(D) b d a C

125. Match the following :

Mineral
(1) Lead Zinc

https://www.pygonline.com
Use

(a) Electric Wire

(2) Copper
(3) Gypsum
(4) Wollastomite (d) Battery Acid

(b) Fertilizers
(¢) Ceramic

1 @ ¢ @
(A) b ¢ d a
(B) ¢ d a b
(C) a b c d
(D) d a b ¢
e T

(eI ECE

(1) f¥e sre (a) fagaan
(2) dfan (b) 3eth
(3) form (c) fofires
(4) afereMTse (d) deifi st

(A) b ¢
(B) ¢ d a
(C) a b
(D) d a

1 2 @ @
‘ d a

b
c d
b c
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The headquarters of North-Western Railway Division is located at

(A) Jaipur (B) Ajmer

(C) Kota (D) Jodhpur
TR-UFTEH {erd WUSH 1 T e 2 -

(A) T (B) 3T

(C) & (D) S

When did Rana Sanga died ?

(A) 30 January, 1528 (B) 30 July, 1527
(C) 28 August, 1529 (D) 29 November, 1530
T S Y G % S 7

(A) 30 SFad, 1528 (B) 309w, 1527
(C) 28 3ATE, 1529 (D) 297aw, 1530

Who was the founder of Vishnoi sect ?

(A) Pipaji (B) Achalnathji

(C) Jambhoji (D) Ramanandji %ﬁ
foeTé T % el i 9 7

(A) st (B) =S

(©) Sl (D) T

Who was the editor of the newspaper “Pratap” which gave wide publicity to the Bijoliya
Peasant Movement ?
(A) Ganesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha

feshiforan foram 3T=Gier 1 ST TR S 9Tl TETER-UF “TATT o HUTe i & 7
(A) TToreT wrehe fepameff (B) T fene ami

(C) wfireRreTTeT SHt (D) THaAT 3T

When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949

UL — TR o YUYW T[T Ao e ol TJTH] d 85 7

(A) 30.03.1948 (B) 18.03.1948

(C) T11.11.1950 (D) 28.03.1949
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131. Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur
(©) /-‘L,Ewar (D) Wardha
1919 T Tt B g9 1 T fowatig afies, TmEmEm el i afend R $
INTE 9 el &8 7
(A) i (B) TIR
(C) 3R (D) aui
132. During the reign of which ruler Pichola lake was built ?
(A) Bappa Rawal (B) Maharana Lakha
(C) Rana Sanga (D) _Rao Chunda
firten gftet 1 Fmivr feper wmmareh o et H g3 2
(A) S (B) HZTV <IRET
(C) T (D) Ta el
133. “Jaisingh Karika™ written by Sawai Jai Singh related to which subject ?
(A) Astrology (B) Economics
(C) Politics (D) Military administration
qaTs atez g fofEq «siafaz sifer ame 0y fea i g gsfia 2 ¢
(A) SAifas (B) IR Em
(C) Tt (D) H=F-T3MEH By

134. “Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting
(B) Bikaner school of painting
(C) Alwar school of painting
(D) Nathdwara school of painting

fraag fearena fovd Temepen It @ wefua 2 72

(A) Tpymmg femehet Seft (B) sftehT fermrehen Wef)

(C) TR ferehet dieft (D) TUgRT feehen Seft
135. ‘Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?

(A) Malawi (B) Wagdi

(C) Hadauti (D) Shekhawati

TEr IR el forg ToreT aelt i Iusifort § ¢

(A) Herd) (B) arTel

(C) et (D) @
136. Who was also known as “Meera of Wagad’ ?

(A) Meera Bai (B) Gavan Bai

(C) Koyal Bai (D) Kali Bai

S aTE 6 I & T ot S St e ¢

(A) Hryar (B) Taf &

(C) I a8 (D) HTeft T8
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Which one of the following is not the aim of Social Science ?
(A) Intellectual and Mental development

(B) Utlization of leisure time

(C) Helpful in bringing social changes

(D) Teaching etiquettes

et 3 & w6 Ao fogm 1 Aea T R
(A) g o Tl fepr (B) ST % T BT HGHA FHT
(C) FMIFFeR TiEaa o 3 warash s+ (D) fonemn forwmm

The importance of teaching-learning material in Social Science 1s :

(A) Save time and energy (B) Clarity of the subject matter
(C) Both (A) and (B) are wrong (D) Both (A) and (B) are correct
[T famm o faveor - siferm armft 1R R

(A) THa 3R afeem £ g=d (B) for s 1w

(C) (A) 3 (B) i mera € | (D) (A) 3R (B w1

*Social Science refers to those branches of the study that deal with humans in their social

relations.” This definition was given by —

(A) Columbia Encyclopedia E%
. N . =

(B) Britannica Encyclopedia

(C) Encyclopedia of Social Sciences

(D) Report of, The Commission on Social Studies, USA

“orfers s | arer st ) 3 wrEnet © R S a0 1 3 wmiiers gl %
gyl guge § g 5 € |7 98 TR & R -

(A) SPIATSRT TETSFAI &

(B) fsrefaen wramgaeififea

(C) THEREEifEan 311 Hrere qrgds

(D) T TR T, 3.08.T, hi furd

Use of Information Technology in Education started first in which country ?

(A) Britain (B) USA

(C) France (D) Germany
a1 Aehteh! 1 TI& H Had TEet ITART e <91 W fepar T 7
(A) foem (B) Z.TH.T,

(C) W™ (D) s
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141,

142.

143.

144,

146.

(89)
Which criteria is not correct for a good evaluation ?
(A) Vahdity (B) Reliability
(C) Objectivity (D) Subjectivity
Teh 37% qoFTeh < 1010 1 T1 HT9EE Hel 781 § 7
(A) dua (B) fowaeaan
(C) a&gimal (D) SHfHIERAT
Values of Social Science teaching are -
(A) Social Value (B) Democratic Value
(C) Artistic and Recreational Value (D)  All of the above
arAToreh fersr fareor o 7ea & -
(A) T T2 (B) eIt ed

(C) TS AR TS Jod (D) IWie auff
Summative Assessment is inappropriate for the following :
(A) Deciding upon the grade

(B) Summarising student learning

(C) End of the term assessment

(D) MOI’IIIO[‘II’IE the pros,ms of teaching — learning process
T Jealieh 1 < ot rqogea 2-

(A) ooft (U=) Ffvaa s o

(B) fareneff arferm % WX g8 fam w0 & g{@
(C) w7 qoIieh |

(D) Tonagor-—arfermm wfsran 6t wifa w fme 3

Which of the following subject is not included in social science at the upper primary level ?

(A) History (B) Civics
(C) Geography (D) Psychology
o 3 & v e = e ot o s for o wfiiferm T R 2
(A) sl (B) iR
(C) e (D) e
. Which one of the following is the correct example of “Application objective’ of teaching ?
(A) Define (B) Classify
(C) Establish (D) Recal]
for o & Teror & S 2 1 wEl JeTE 2 -
(A) feaTsT & (B) affeBtol et
(C) Tfid & (D) TSRO FHET
Main components of Information Technology are —
(A) Software (B) Hardware
(C) User (D) All of the above
1 AT % [T UTH & -
(A) Wl (B) e
(C) IITRal (D) 3wt
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147.

148.

149.

150'

(90) PL-2

Which permanent wind blows between 30° South to 60° South latitudes ?
(A) South - East trade winds  (B) Polar Easterlies

(C) Westerlies winds (D) North-East trade winds

S Ht wemft we 30° gfaft srare @ 60° <fEft s % wew watEd B R ¢
(A) em-rdiemimaed (B)  ydE gl v

(C) T3 v (D) Il AT 7o
Where do willy-willies cyclones originate ?

(A) West Australia (B) Pacific Ocean

(C) Atlantic Ocean (D) Indian Ocean
foreft-foreftst whamad el ST g 8 7

(A) ufvadt srfeferm (B) SI¥Id HETETR

(C) 3¥edlifesh HEETR (D) fdg werarm

Which of the following oceanic currents are located in the South Atlantic Ocean ?

(1) Brazilian Current (2) Benguela Current

(3) Oyashio Current (4)  Gulf Stream Current %%T
(A) 2,4 By 1,2

(C) 3.4 (D) 1,2,4

ffefad vzraria arret 4 9 %59 o grd 2faofl sreaifes wearn b fg 2 ¢

(1) srfifers am (2) STEE ¥

(3) FRfE uw (4) TH E U

(A) 2,4 By 1,2

(C) 3.4 (D) 1,2,4

Dehradun, Kotlidun and Patlidun are located at
(A) Between Himadri and Himachal

(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks

(D) North of Himadri

BN, PIeelied Td Treeigd fa & -
(A) Tzurdl g fumae & wea (B) fewrae o fyrarfers & aw
(C) Prafassgfemftamim (D) e & 3ad 9 m
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(96) PL-2
INSTRUCTIONS / féw
(Read carefully and comply / &= & 72 3R qrem #X)
IMPORTANT / weeaqef

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. ]]n_ candidate has tn .m-\l.n:; m that subject in Scction (IV a) Mathematics and Science or (1V b) Social Studies as selected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

ggue}llo oklet N mber
ﬁ@;é“ Mg e oftren g s @ e g, S A
ﬂmﬂﬁégﬁmﬁ %mwﬁnﬁnrﬁm%' OMR H1Z 1 ST

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A AHATIA AT FURLE RET T o v - . o
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm
B AT Teld /AT AT |

(]

1),

Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of your {}\IHAJ]‘-\L&I Sheet.

5 o B @ e Z AR w137 7% OMR ufie v FA 1 8 0 7% we-ham (FEee) @ oa | 3tz smoaem i & faa
ﬂﬂm*ﬂmi‘mﬂfﬂRJﬁEﬁlﬁFﬁﬂ?W?ﬁwmiﬁﬁﬁ Eieies ples e |

The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
wid & A T yw w3 8 Wi we ';0 % 8 | OMR stz v furge wva -mm F A FEE T AT s i wen & vg A
Werl -Qfea o S AT 0 A A R v 2 |

All questions are of MCQ (Multiple Chaoice Question) type. There is only one correct answer to each question carrying one mark. There
will be no pegative marking for wrong answers,

kb WERFE | e e o e A & |y ne i el il o w8 e wae F B o s e g i
All questions other than language questions of Sections 11 and I1I shall be bilingual.
WHFE-9= % ATHT wWoE [ TA 11 & Wt & wfafea o ad gvat & v fyamdm g7 )

Inany event of any mustake in any question's, condidates will not be penalized. However ne corrgctions will be made in question’s durng the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
ugstion Booklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e g @ A wr, | Famft s afafo wm saeer e |

Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, g, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WETA o AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensure that any page/ question is not missing / not printed / tomn / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand getnt IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A PE QW # WA Wel A1 A9 ¢ A e AR A2 T2 | Al g

1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g

anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F EIE, s, A, v -afeaw @i e, firee s o na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wel: WA 3 TR g TULA, B(HI)'E]L"'_-T ?I";I'u"ﬂ'ﬂLWFH'H’?T_*RTHWF_HEF_'REHU\]Humqﬁﬁfﬂﬂﬁwqmzﬁm1
2R T 1 AT A O W | T A 290 2 ﬁwmmﬂ?aﬁmqqﬂﬂmm T | W% U ar e @ s
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

Frd wiaredi st o4 a9t & T4 W F =17 T8 o W | OMR $ite e dem w sl afm 2 s ardi J0F WERIE
e 2 ) el A @ serl £ whr (aafefn) @ ge ofy w1 i s 5 anfE fel o6 e a nﬂﬁaﬂirﬁ'ﬂhqq—ﬁwmm w
‘H?q?tmqm;_ggkﬁ wfd vd uyA-giea diaw w a g 1 aved e writ OMR $t wh g st wmr @ | Wy
s o | Ll |

€
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